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Questionl:-Which of the following statements about Sahodaran Ayyappan is/are
correct?

i. In 1933, Ayyappan started a news paper called 'Velakkaran'.

ii. He became a member of Cochin Prajamandal.

iii. He fully supported Hindu Mahamandal formed by Mannath Padmanabhan and R.
Sankar.

iv. He took initiative to begin '"Yuktivadi' journal along with K. Rama Varma
Thampan.

A:-only (i, ii and iii)
C:-only (i, ii and iv)
D:-only (iii and iv)
Correct Answer:- Option-C
Question2:-Which of the following is not a book of Vagbhadananda?
A:-Sivayogavilasam
B:-Abhinavakeralam
C:-Atmavidyakahalam
D:-Darsanamala
Correct Answer:- Option-D

Question3:-Match the following statements and years about Poikayil Appachan.
Which of the following option is correct?

Statements Year
(a) Appachan joined in Sadhujana (1) 1909
Paripalana Sangam of Ayyankali in
(b) He started PRDS in (2) 1921
(c) He was nominated to
Sree Mulam Prajasabha in (3) 1907
A:-a-1, b-2, c-3
B:-a-3, b-1, c-2

C:-a-2, b-1, c-3



D:-a-1, b-3, c-2
Correct Answer:- Option-B

Question4:-Which of the following statements about Swadeshabhimani
Ramakrishna Pillai is/are correct?

i. He was the editor of news papers, Kerala Darpanam and Malyayali.

ii. Ramakrishna Pillai severely attacked the autocratic policies of the Dewan P.
Rajagopalachari

iii. He was elected without contest to Sri Mulam Popular Assembly in 1910

A:-only i

B:-only ii

C:-only iii

D:-All three statements are correct
Correct Answer:- Option-D

Question5:-Who wrote the famous pamphlet, 'Travancore for the Travancoreans' in
the context of Malayali Memorial?

A:-Dr. Palpu

B:-Barrister G.P. Pillai

C:-Mannathu Padmanabhan

D:-Swadeshabimani Ramakrishna Pillai

Correct Answer:- Option-B
Question6:-Match the following leaders of Indian freedom movement and their
books. Which is the correct answer?

Leaders Books

Aurobindo Ghosh (i) Bhagavadgita Rahasya
Subas Chandra Bose (ii) Glimpses of World History
Bal Gangadhar Tilak  (iii) The Life Divine
Jawaharlal Nehru (iv) The Indian Struggle
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A:-a-i, b-iv, c-iii, d-ii
B:-a-iii, b-iv, c-i, d-ii
C:-a-i, b-ii, c-iii, d-iv
D:-a-iv, b-i, c-iii, d-ii
Correct Answer:- Option-B

Question7:-Consider the following events in Indian Freedom movement and
chronologically arrange them. Which is the correct chronologically arranged option?
i. The Cripps Mission

ii. The INA captured Imphal and Kohima

iii. The August offer

iv. The Quit India's movement

A:-i, i, i, iv

B:-i, ii, iv, iii



C:-iii, i, i, iv
D:-iii, i, v, i

Correct Answer:- Option-D

Question8:-A notable episode which attracted the attention of the whole country in
connection with the Indian freedom struggle was the arrest and trial of Mrs. L.S.
Prabhu of Tellicherry. This incident is associated with

A:-Quit India Movement

B:-Civil Disobedience Movement
C:-Malabar Rebellion
D:-Communist Movement
Correct Answer:- Option-B

Question9:-The Revolutionary Lala Har Dayal is associated with

A:-H.S.R.A.

B:-Alipore Conspiracy case
C:-Ghadar Party

D:-Lahore conspiracy case
Correct Answer:- Option-C

Question10:-The second President of Indian National Congress is

A:-Badruddin Tyabiji
B:-George Yule
C:-Dadabhai Naoroji
D:-Annie Besant

Correct Answer:- Option-C

Question11:-Which is the indigenous beyond visual range air-to-air missile
(BVRAAM) successfully conducted flight test recently by DRDO and IAF?

A:-Agni-V
B:-Brahmos
C:-Nag
D:-Astra

Correct Answer:- Option-D

Question12:-Which National Park in Kerala has emerged as the highest-scoring
individual protected area in the Management Effectiveness Evaluation carried out
by the Union Ministry of Environment, forest and climate change for 2020-20257

A:-Silent Valley
B:-Eravikulam
C:-Mathikettan Shola
D:-Anamudi Shola



Correct Answer:- Option-B
Questionl3:-Where is the famous hill station Mount Abu located?
A:-Rajasthan
B:-Himachal Pradesh
C:-Uttarakhand
D:-Meghalaya
Correct Answer:- Option-A
Questionl4:-Who is the present Chairman of ISRO?
A:-K. Sivan
B:-S. Somanath
C:-K. Radhakrishnan
D:-V. Narayanan
Correct Answer:- Option-D

Question15:-Which Constitutional Amendment added the term 'Secular' to the
preamble of the Indian Constitution?

A:-44th Amendment
B:-42nd Amendment
C:-52nd Amendment
D:-36th Amendment
Correct Answer:- Option-B

Question16:-Which of the following most accurately describes the main goal of
Action Research in education?

A:-To test new educational theories in laboratory settings
B:-To test standardized curriculum effectiveness across different schools

C:-To improve teaching practices and student outcomes through reflective,
classroom-based inquiry

D:-To conduct large-scale studies for generalizable results
Correct Answer:- Option-C

Questionl7:-According to Howard Gardner's theory of multiple intelligences, which
type of intelligence involves the ability to understand and appreciate relationships
without relying on physical action or objects?

A:-Visual spatial intelligence
B:-Bodily-Kinaesthetic Intelligence
C:-Logical Mathematical Intelligence
D:-Intrapersonal Intelligence
Correct Answer:- Option-C

Question18:-Which of the following best describes the highest level in Bloom's
Revised Taxonomyof Educational Objectives?



A:-Applying - using information in new situations
B:-Creating - producing new or original work
C:-Analysing - breaking information into parts to explore relationships
D:-Evaluating - making judgments based on criteria and standards
Correct Answer:- Option-B

Question19:-What is the primary objective of microteaching in teacher education?
A:-To evaluate student performance through standardized testing
B:-To develop comprehensive curriculum plans for entire academic years
C:-To replace field teaching experience with theory-based instruction

D:-To practice and refine specific teaching skills in a controlled, brief setting
with immediate feedback

Correct Answer:- Option-D

Question20:-According to Vygotsky's sociocultural theory, what does the Zone of
Proximal Development (ZPD) refer to?

A:-The gap between a learner's actual independent performance and their
potential performance with expert guidance

B:-The maximum level of achievement attainable through repetition alone
C:-The innate capabilities a learner possesses without external assistance
D:-The fixed stages of cognitive development predetermined by age
Correct Answer:- Option-A
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Correct Answer:- Option-C
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